FC Pneumatic grippers
FACTOCOMPONENTS Series 6310 - Parallel style grippers - Standard version
PNELMARX

INDUSTRIAL SUPPLIES AND MANUFACTURING EQUIPMENT

} Parallel style pneumatic grippers - Standard version

Ordering code

6310.0
10 D = Double acting
16 NC = Single acting (normally closed)
2(5) NO = Single acting (normally open)
Construction characteristics
Z
Body anodised aluminium C_)
Piston aluminium or stainless steel (depending on the bore) |<T:
Fingers steel |:_)
End cap anodised aluminium 2
Seals oil resistant NBR rubber ®)
|_
<<
=
)
Operational characteristics %
o
Fluid Filtered air.
No lubrication needed, if applied it shall be continuous.
Working pressure double acting : 2 - 7 bar (for @10) - 1 - 7 (for other bores)
single acting : 3.5 - 7 bar (for @10) - 2.5 - 7 ( for other bores)
Operating temperature -5°C - +70°C
Maximum operating frequency from @10 to @25, 180 cycles/minute

\. 02-384-5701 % info@factocomponents.co.th &) www.factocomponents.co.th () Line: @134ovdbx



»} Pneumatic grippers

Series 6310 - Parallel style grippers - Standard version

FNELMRX

Overall dimensions AB

C (4 threads) | N
g . (P
i1 Jool{E=—=—==
o L] | O,
L\‘E’;UZ A (2 threads)
oN (H9) =
TP O 8 o
R —
S EE e |5
’$\/Z¢’ B - {
Pan AN o var
A o A\
E @threads) ° I D (4 threads)
oM (H9) DF (through hole)
DB
Bore 210 216 220 @25 & GA w
M3x05 = M4x0,7 = M5x0,8 | M6xi an
A Useful
donth 6 45 8 10
AB 27 30 35 36’5 F (connection for opening)
AC " 74 16 ! 8’6 22 F (connection for closing)
c M2,5x0,45 M3x0,5 & M4x0,7 | M5x0,8
D M3x0,5 M4x0,7 M5x0,8 Me6x1 .
zZ P 55 8 10 12 | O \\
8 DA 16 24 30 36 1O O ==
< DB 23 245 29 30 | O
|:_> ODF 26 3,4 43 5,1
O E M3x0,5 M4x0,7 M5x0,8 M6x1 FB
g et 6 8 10 12 F
= EA 12 15 18 22
l_
< EB 18 22 32 40
% F M3x0,5 | M5x0,8 = M5x0,8 | M5x0,8
w FA 11 13 15 20
E FB 9 75 10 10,7
FC 19 19 23 23,5
G L 155 2 25 Sensor slot detail
GA 6 75 9,5 11
GB 57 7 9 12 — a3
GC 3 4 5 6 {B A
GD 4 5 8 10 J\@// \$
GE 15,2 20,9 26,3 33,3 < !
GF 11,2 14,9 16,3 19,3 3\ /Z%
GH 57 67,5 84,8 102,7 *@
GL 5 8 10 12 (13
GM 29 38 50 63 PP
LA 37,8 425 52,8 63,6
LB 23 30,6 42 52
LC 16,4 23,6 27,6 33,6
oM 11 17 21 26 016 - @25 @10 - @25
et 2 2 3 35 Sensor slot Sensor slot
ON® 2 3 4 4 detail type “C” detail type "B
dopth 3 3 4 4 52
NA 76 11 16,8 218 3% m
NB 52 6,5 75 10 ol ¢ )
P 5,4 5,8 9 11,5 Z
PA / 11,6 14 19 =
PP / 2,1 2,1 35
Weight (g) 55 120 230 425

. 02-384-5701 % info@factocomponents.co.th & www.factocomponents.co.th (7 Line: @134ovdbx



L o
g Fer—r-T-a--——r-7-1-1-78 T8 oottt r @
= [ N [ | | | | | I W W W W
u I T N I B [ ! ! | | | |
H o L_btotor oo b o~ R i et I (s I —_ W W W W o=
| il it e e T 5 E ! ! ! ! ! | c et - © E
a S o o € | ! ! ! ! | o € | | | | £
= 1 PR s i i A= N B £
o | Y -7 il | B pe el Bl 3T | | | | | | T ! ! ! ! T
¢ c & T s-1 N [ I RS g e e e [N N ) S | 2w
2 =JAN O O T O I (- i g
2w . —1 g A N e - R I - Sl g
o mw 2 © [ N [ [ » i il i e It 5 s KN ” | | | O.MNV
= ' c [ A [ [ o | s ifs g g vog| a [ R N S Y a
52 @ I AR e e E R S [ N (S A NN R N :
[$] -m E = REE I [ B B I | | | | | | - ! & T [t
- © Z o — ~ooe e s ! ! ! ! ! ! ! NP ol o
® T £ oW o ¥ N O ;o< N ° o o © o ©o o © = 3 e
c = R = = = = - © 0 <~ 5] I3 -
m © % (N) @240} Buidduy (N) @240} Buiddun
L
QW Qo W & __ 4 s . __0O I R Bt St mt B 17 3
M 1 H [o)] R e P ¢
7)) I c I T A N I B B A I oot le
en 9 L " [ + = re}
mw b o (%2] O rorTTTITATTT IO h-49 =~ ! ! ! ! ! — O =
o Y 2 S i B e e B °E
o o L I N O S A A A e A A =1 ! ! ! ! ! | T E =
= $ T =2 et e iy i \\,\\,\\mH ! ! ! ! ! ! o T oI
o - S o L A N N R L g
o 44 - — - 1< Sl Liaoao i o 8 I I I | I I Q Q
—_— 4 A I (B [ | S [N B o R R N AR [N R KT @
[ R N B NI T |1 I = r [ iy HA U =
> o c [ B
- @ w P T O A A U e 2 ! ! s g g "B 3 2 o2
Z o I S o 0 [ e o S i e L B "e
— 3], 8, g, 8 | | | | | | -
o g a oy e RN
el [} —_— o L I I I I I o o
© w Q® © ¥ N2 0 os o =] 3 =] =] S [S)
- — - - = = = =]
% m (N) @240} Buidduy (N) @240} Buidduy (N) @240} Buidduy
o
! = mm———r———m————q———p—--7 Q e e Aty il Sl pitts B7: il it =178
o @ R I " o WAOANINE
— o | | | | | w__B__ .\ s ] 1. __Jo ITe)
= | | | | | I + + I -+ + 3 F---{-—-- ———-H---hF---Q
% |nna © 1% =~ ! i ! ] ! ! = *y =
e ! ! ! ! £ (R ISR S (O BIR Pog = o E
I I | | | it ity (el Bb e -t i ¥ A iy
3 & o Sl e E T T E °E
= I 88 32 g, s e E S e e =3~ AN S | N | S <
o I - o o ! I I I I @ I I I i T © Q%
3 T 5 gk R
£ w= I g8 s g g [ Tl il etk (il B St iy K [ it At i ke i Bl B it IS
Q Q o« © © ©| 2 c PEEH A0q ¢ A 2 0o ] ® %
e} N F 8 & b £ o “F-t--1-2-1--4--4+i---4° o 0 N VR EO F A S PN = I R A I A o0
o o O S =IO T I [ B R BN .
c ° m o = | | I I I~ o <! s ~ o o | <+ ™ ~
= & L L L L L o o o
m @ © 5o v 1w 5 & & 2 2 © @ B8 % =m ] 7 3 E 2 ¥ S
c Q @ ¥ a0 m I (N) @210} Buidduy (N) @210} Buiddun (N) @240} Buiddurn
o = [0}
© £ = O e S i RS i 71798 N
S 2argal S T T S A N
it Q @ — | © T _ @] W W W W I i i I R 1o i B AT Q | | | | | | | o
[ w a8 -1 1t-19% = ! ! I I I I = = [t it ity st st e | il it K¢
5 =S I I I | £ I I I I I I o E - E I I I I I I I
2 8 S | E | bomdemcbeodigfio 9 E L bt e ob R S SE o ]
2 S ig e S o e =S NIRRT H Y (O - R T § LA o o IO |2
o (=] O E=di. | | | | AN R N I A A B AR ) R R N | N N O 0 | | I I I I I
& LS 5 o | | | | 3 I i i I i [ hel 598 I I I I I | I
wm =1 - Re] S Lo ke 2 ! ! ! ! ! ! 2 e 1 A O N
S — ~ I ] | | | | i
23 © = O Olo < | | sl ool sl el sl s m [ttt S el iy i/ i ﬁ\\\mm i -rri1- ‘\\\\mm | | | | | | |
W e = < z zZz £ Sl | bl S e It = I I I I I = =2 I I I | | |
FE o ~ o ® L_—_—1___nfelef=lehyl o O ! ! ! ! ! OD 5D bbb g 1) f_Ji__Jo
a5 - o © g | | | - iy Ry By \;m F e i T =T 1 ! ! [16 B I BN B N o~
=’ X - = < | | | | 8 3] 3'28 3 g g9 3 |3 | | 15 8y 8 18 3] g
G m o 2 o |5 EW ! ! ! ! ! Inl o e oo @ dd & | (RN S e S Y e (e I
2 — c o o o . . h ! L ! . o
> = § T £ £ & & 2 ©° °°© g 8 2 8 3 ¢° 8 8 8 ¢ 1 $§ 8823 38 2 8
o = 2 > % s |2 (N) 82104 Buidduy (N) 82104 Buiddigy (N) 82104 Buiddun (N) @010) Buiddun
& © — L
¥ s S re] L |o o © o 10
(TH ) S = m.. Il - - Y] (3]
£ & 2 8§ 5 |e S S S &

Distance H (mm) Distance H (mm) Distance H (mm)

4 info@factocomponents.co.th &) www.factocomponents.co.th (%) Line: @134ovdbx

Distance H (mm)
. 02-384-5701



